HALF YEARLY EXAMINATION 2022-23
Iear¥er qdeT 2022-23
;-39 Subject:-ECONOMICS

Class: -XI ( F&TT-3AREAN)

Time AT - 3:00 Hrs T¢ 31, 379:-MM: 80

—

General Instructions:

. All questions in both the sections are compulsory.

Marks for questions are indicated against each question.

Questions No.1-10 and 18-27 are MCQ or Objective type questions
carrying 1 mark each. They are required to be answered in one sentence
each.

Questions No. 11-12 and 28-29 are short-answer questions carrying 3
marks each. Answers to them should normally not exceed 60 words each.
Questions No. 13-15 and 30-32 are also short-answer questions carrying 4
marks each. Answers to them should normally not exceed 70 words each.
Questions No. 16-17 and 33-34 are long-answer questions carrying 6
marks each. Answers to them should normally not exceed 100 words each.
Answers should be brief and to the point and the above word limits should
be adhered to as far as possible.

AT Ader:

. Gl @ar & gy g fFar g

Y% 9T & AUiRa 3w 39 e &Y o §
g FEAT 1-10 TAT 18-27 Sgiahedld TF F¥@Se U §, e
YA HT 3R Th dreg H g 3afad gl
TR HEAT 11-12 TAT 28-29 TALRIcHS YT &, FAH IIF & 3 3 ¢l
Ucdeh Pl 3T AHTA: 60 ersai & 37 gl gleT ATMgU|
TR HEAT 13-15 AT 30-32 8 TIRIcHS I &, fFAH JAdh & 4 3
&l Y% HT I AT 70 eUsal F 31T AgT gl aIgu|
g TEAT 16-17 JAT 33-34 SIEI3TIcHS U g, [oledd Ucdeh & 6 3ih
g1 9% FT I AT 100 et F 31T AgT gl IIgv|
3R Gffica U dLATcAS gled AIRT AT JATEHT FUX ¢ I ereg AT
& 3ada g fqu S afewl

SECTION-A ($119T- 31)

Read the following statements carefully: 1
Statement 1 — During elections news channels try to predict result by exit
poll.

Statement 2 — Exit poll is a popular example of random sampling.
In the light of the given statements, choose the correct alternative from the
following:
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Statement 1 is true and statement 2 is false.
Statement 1 is false and statement 2 is true.
Both statements 1 and 2 are true .
Both statements 1 and 2 are false.

ArATf@d FY=T o €T F de:

HYA 1 - AT & ERIT FATIR ATl TR Aol @R gRomeA Hr s1fasgamof
FA BT T T &l

FYA 2 - tfdere g Y37 Jufoier &1 v N 3eTeX0T g

T 1T FYAT & 3Tl #, Afaf@a & & @@ [eeqd F1 g3 fifaw:
FYT 1T § 3R U 23009 §

FYA 190d & 3N FIT 2TT ¢

FYUT 1 3R 23 acT §

FYUT 1 3R 2341 38T &

Read the following statements — ’ 1
Statistical data are numerically expressed.

Statistics include presentation of data.

Statistical data are collected in a systematic manner.

Statistics involve interpretation of data.

Identify from above statements, characteristics of statistics in plural sense-
land Il

[, I'and IlI

[, I, Il and IV

[l and IV
fArafaf@d wy«t &I 9¢ -

|. FITETSIT 3T TCAcHS &9  TFd ThU ST &l

|| |ifEgehr # Ser T gEgfa anfder g

Il FIFETRT 3¢T A FARFYUT dleh § THT ol 1T gl

IV. GifeEgehr 7 3er $r carear afae gl

IWIFT FAUAT H F Fgaael H T HiT [IATATAT H Fganfaie-

[ & 1l

1, 1131

L3RIV
1 3R 1V

Assertion: 1
Direct personal interview is suitable when area of inquiry is wide.

Reason:

Data collected from wide area inquiry, are more reliable.

Assertion is correct but reason is false.

Reason is correct but assertion is false.
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Both assertion and reason are correct
Both assertion and reason are false.

FY : [BATS F & AEJ §1 W IcTET AT AR 3UFFd il ¢
FROT: [aEd &1 & Jodre ¥ T fht 90 se7 3t faeawey g

FUT TET & Afhed FROT 9T §

HROT TET & oifched U T &

HUA IR FHROT glr TET &

FUT 3 FROT ST 3GT &l

Class interval means? 1
Sum of upper or lower limits

A range of values which incorporates a set of items

Extreme values of a class are limits

. Difference between upper or lower limits

FIT-37aTT T AdolS & ?

A.

oowp

IR 7 Aol AT FT T

B. el &1 Ush H@orl [SaHA a&g3it &7 U Gog A ¢
C.
D. 39 a1 fowelr €&AT & = AR

Teh ol & oA Hed WHATC §

Define census method of data collection. 1
3ThaT & TG T SAI90TAT fafer s gReniaT FY
Define sampling error. 1
fredie (@) TR F aRenfva w4

Or

Define quota sampling.
arer g & R &<

Upper limit of class interval is not included in inclusive series. True/False
1

o7 3T fF 3=g Tar o gAY Ao F anfAe fhar Srar §

TEY /3T

“The sum of the value of all observations divided by the number of
observations.” This statement is valid for — 1
Mean

Median

Mode

None of above

Page 3 of 12



"HelY TRl & Hed HI AT Hdelipel 1 Fear ¥ fFenfaa grar g1
g HYUA 3% o0 AT ¢ -

AT

AR

EIW
IRFT H § FIg gl
9- Read the following statements- 1
I.  Algebraic treatment of mean is possible.
II.  Mean is based on all items of series.
lll.  Mean cannot be calculated by using graph.
IV.  Mean is not affected by extreme values.
Which of above are correct?
| &Il
[, 11 & Il
AL & 1V
[, & v

A @a Y= A 9é-

|. AT T SSREIOIAT 39dR THT gl

I ATET Sl & @ Hel o MR gl &

1. ITH T 3TAIT Fleh AT I IF0TAT FAGT I ST Fehal gl
IV. AT A Al F genfad 6 g gl
IWFT F A HleT Thr 82

A 13RI

B. I, 113X Nl

C. L3R v

D. I, NI 3R IV

OO0 w»

oo w>

10-Read the following statements- 1
I.  Diagrams simplify data.
[I.  Diagrams are useful in making comparison.
lll.  Bar diagram is a two dimensional diagram.
IV.  Histogram is helpful in finding median.
Which of above are correct?
| &Il
[, 11 & Il
AL & TV
I, & v

o0 w>

Or
Width of bar diagram need not to be equal. True/False.
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|. 3N 3T A T Tl

Il. 3G ol A A 39A g §

lll. 8 IR@ TH SAGHAT 3N g

IV. 3ad =RIT ARIHT AT el H eI aidl gl
IWFd H & T TEr §72
A 13RI
B. I, 3R 1
C. L3R v
D. II, 3R IV

3dr

gz R fr iz sy J6T g afewl T8y ed

11-Explain any three limitations of Statistics. 3
aifegdr o fheal i HAT F7 JuTT Y |
OR (37Ydr)
Define statistics as a singular noun and as a plural noun.

Uchddel U SREED) & ¥T H/ FIfETSr o1 gRenfa fifau]

12-Define Primary data. Explain any two method of collection of these data.
3

qrafAes 3l o aRINT TS | 38 ThT Ftad &7 fheer ar fafoat
FI IABY |

13-Discuss the principles which should be followed while drafting a good
questionnaire. 4
Or
What do you mean by census method? Give its merits and demerits.

Teh ST YATdell I TR dIR i AT fohed TAGUTal &1 drelel foham
ST @I, 37 WX T |

3dar

ST YedITl & 39 41 FHSIA § ? $Hh 07 3R Y FA1SU |

14- From the marks given below prepare a frequency series with classes 0-10,
10-20 and so on. 4
16, 8,10, 12, 18, 24, 28, 31, 38, 49, 58, 53, 50, 48, 43, 39, 56, 58, 44, 41, 49,
55, 59, 63, 69, 61, 74, 29, 27, 22, 34, 39, 32,44,78

AT feU aTT 3Hep & 0-10, 10-20 seafe & 3HRTel T TRIRCAT HGel FAST|
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16, 8,10, 12, 18, 24, 28, 31, 38, 49, 58, 53, 50, 48, 43, 39, 56, 58, 44, 41, 49,
55, 59, 63, 69, 61, 74, 29, 27, 22, 34, 39, 32,44, 78

15-Make Histogram of the following data: 4
fArAfaf@d 3mehst @ 3Id=~T Fa0

Marks 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Number 42 38 120 84 48 36 31
of

Students

16- The table given below shows the amount of sales of 100 companies.

Prepare less than and more than ogive. 6
AT & g arforer 100 wufat fr foshr AmEr gutdr §1 @ & 3iRa ifedRror
TAR |

Sales in 20-30 30-40 40-50 50-60 60-70 70-80
Rs. crore

Number of 7 12 15 30 22 14
companies

17-Calculate mean of the given data:
& 91T s & ALY T IO A | 6

Daily 2-4 4-6 6-8 8-10 10-12 | 12-14 | 14-16 | 16-18
wages

No. of 11 14 20 32 25 7 5 2
workers

Or
Explain the formula for(short-cut method) for calculating mean in case of
individual series, discrete series and continuous series.

3TCTIT-3763T S[Tell, 3T H@ell AR AR J@er & A 7 Arey H
MU & foT g (o fafen) i carear wi
SECTION: B/@3-@

18-A consumer is consuming two goods X and Y and is in equilibrium. The
prices of X and Y are Rs.10 and Rs.20 respectively and Marginal Utility of
Good Y is 50utils. What will be the Marginal Utility of Good X? (Choose the
correct alternative) 1

(a) 100

(b) 25

(c) 250

d) 15
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Teh SUHIFAT &1 a3t X 3R Y &7 30T T @l § AR Tt & g1 X
3R Y & BAT FAA: 10 FF R 20 39 § IR IEG Y F A
3YATAT 50 S &1 €] X AT AT 3UENAT F21 gref? (FgY faeped
FI TTT F)
(T) 100
(s 25
(H) 250
(3N) 15

19- Write the definition of micro economics. 1

Or
Define normative economics.

FEH AT T R faf@e|
R21)

3eTardy 37RmET & gRea fHifau

20- “To increase the production of one good by 1 unit more and more units
of the other good have to be sacrificed since the resources are limited and
are not equally efficient in the production of both the goods”. In this case
PPC will be- 1
Concave to the origin
Convex to the origin
Straight Line

. None of above.

"Teh GE & 3cUlee] H 1 $h1g T defd Aol & folv q@ll aeq
$r 3k T H™F FHESAT FT IWRT AT ISdT § FAifeh AT
WAT & 3R el &I & 3cUTeeT H AT TT § FAA A6
& 57 A & i gef-

A. Fel & 3Tado

B. Hel & 3l

C. Hrefr T@r

D. 3Riad H & HIs Aar|

21-  Which of the following cannot be called central problem of an
economy?

A. What to produce? 1

B. When to produce?

C. How to produce?

Oow>»
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D.

A.
B.
C.
D.

For whom to produce?

Feaf@a & @ 59 rdcggear 1 T TATAT 6T Far o
TohdT 87

FIT 3cUTesT I g7

& 3cAIGed P 872
3cUTCeT hd H?
frgs TIT 3cared T §7

22- Ukraine war with Russia has lots of economic implications as

o0 w>

well. For example the schools, hospitals, roads and power stations
have been broken. Large number of skilled population have been
either killed or injured seriously. This will shift the production

possibility frontier of Ukrain ................... (fill  with correct
alternative). 1
Leftward
Rightward
Neither leftward nor rightward.
. Both leftward and rightward.

TH & WA el JgU F Fgd TR 3fIF Afgard i &1 3emexor
& T Tpd, 39T, dss IR Wl ag fqu 1w g &=
TN A FHAS AW I A A = § 7 MR &9 § e

gU gl TG Ihed & IUIGH THTTAT Th PN eovereeeeeeeeennnn. (&Y
fepeq ) TAATART FT 3|

A. 91T

B. gr¢

C. o dr §1T 3iR o g gIu|

D. §T¢ 3 gIv gl

23- Which one correctly represents equation of budget line? (Symbols are in
their conventional meaning) 1

A. M=Px.X-Py.Y

B. M= Px/Py

C. M=Px.X+Py.Y

D. M= Px/Py
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hieT AT FoIC IWT o JHIDPIUT DI TgT &7 T SATAT g2 (Jciieh
39 IRURS 3T H §)
M=Px.Qx-Py.Qy
M= Px/Py
M=Px.X+Py.Y
. M= Px/Py
24-  Which statement is correct- 1
A. Movement on single indifference curve will cause Change in satisfaction
level.
B. Movement on single indifference curve will cause No change in satisfaction
level.

C. Movement on single indifference curve will cause both can be possible.
D. Movement on single indifference curve will cause Small change in
satisfaction level

el AT FHUT HEl o-

A. Thel IATIAR ah W I1fd el & Tdfte TR A aRads grem|

B. Tshel IATIATT Tsh W 1T el ¥ HISC TR H HIS TRl oTgl
gram|

C. Uahel 3ATRIATT aF IX I el & SNl THT g1 Fhdl B

D. Tohel ATIHATT dsh T I el F TIfSC TR A BleT qRaceT g

oo w>

25- Read the following statement. 1

I.  The responsiveness of quantity demanded towards change in price is
generally known as elasticity of demand.

II.  Negative sign before the formula of elasticity of demand has no
mathematical significance.

lll.  Necessities of the life have elastic demand.

Which of above are correct?

| &Il

[, 11 &Il

[, I

[,

farafaf@a saa «r afeu]

|. AT H IRadT & ufd AT & a5 AT Hr gfafear & 3mT at |
AT HT g & FT H ST AT g

|I. AT & T & I @ Igel RKOMcHS [eg HT HIS AOIAT Hged el
gl

1. STraeT fr 3TaRIHAT3T I aeR AT gar g
IWIFT H A FleT AT §?

oowp
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A L&l
B. I, 11 &Il
C. L
D. I,

26- A demand curve parallel to Y-axis (vertical) will reflect-
A. Elastic demand
B. Perfectly elastic demand.
C. Perfectly inelastic demand.
D. Inelastic demand.
Or
Draw a Perfectly elastic demand curve.

Y-378T (FEATER) & TATIAR Ueh HIIT dsh Al faiad hall-
A. GIRIGR AT

B. 7t & & wlIgR ATl

C. qgﬁﬁ: JardgR AT

D. dellIgR AT

QU ieeR AT gk difau|

27- Read the following statement.
I.  Normal good have inverse relationship with income.
II.  Inferior good have direct relationship with income.
Which of above are correct?
| & Il both
Only |
Only Il
Neither | nor Il

fArAfaf@d saa 9d|

| HTATT aFq & 3T & WY fAadd e g g
Il. Fgse @17 a¥q &1 3T & T FaY g g
IWIFd H & T TET 872

A1 3R 1l gt

B. &dd |

C. &ael |l

D.aT @l 13RIl

cowp

28-Explain the central problem of “For whom to Produce ?”. 3

Page 10 of 12



"IcuTesT fhash folT " 1 FglT THAEIT dd1sU|
Or/371ar
Explain the central problem of “How to Produce?”.

"IcATGeT hd L P Fard FATIT TdASU|

29-A consumer consumes two goods X and Y and is in equlibrium. The price of
X falls, explain the reaction of consumer. 3

Teh 3UHIFAT & a3l X 3R Y T 3T Hcm @ 3R AJeled H &1 X H

Frag TR g, 39sfiear & gfafsar fr carear 1|
30-“Scarcity and choice go together” Explain. 4
"HHT 3R TS TH AT Tod &" TASC HY|
Or

“Problem of scarcity exists in every economy.” Statement is True or False?
Give reasons of your answer.

" e # fSEwa # qHE AlGg 71" ST HE § AT TAdA?

FRUT Afgd 3R ¢ |

31- A consumer consumes only two goods X and Y both priced at Rs.3 per
unit. If the consumer chooses a combination of these two goods with
Marginal Rate of Substitution equal to 3, is the consumer in equilibrium?
What will a rational consumer do in this situation? Explain.

4

Teh IUHIFAT Shaol & TEI3NT HT 3THET AT § X AR Y &=t T HaAd 3
93 9fd gfae g1 Il 3usiear so7 el a3l & TS FT 3 F SR
e T AT & & Y AT &, A FAT ITHFAT TJelad H g2 3
Fufa 7 ver IFTId 3UHTFdT FAT FEM? JHSET

32- Calculate and comment on the nature of price elasticity of demand if, with a
rise in the price of good-X from Rs.10 to Rs. 12, the quantity demanded
falls by 40%. 4

32 AT T HIHAT @ AT Ghfa 9 0T IR eoqol Y, I awq-vaw
T AT H 10 79T F 10 T9F ofeh T J&f& & G| 12, AT I TS AT
H 40% & PRmae 318 ¢

33-Explain any four properties of indifference curve.
Or
Explain consumer’s equilibrium with the help of indifference curve.6

IATRIART g & fredl IR FAvanit fr sarear fifav)
AT
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IATIATH ah T HEIAT ¥ SUHIFAT & HJolel I SATEAT HIfTT|
34- Explain any four factors affecting elasticity of demand. 6

ART HT T A G A dTel hegl IR SRl Sl TTEAT HITT|
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